CREDIT UNION SCHOOLS QUIZ 2012

STAGE 2 — CHAPTER LEVEL

ROUND ONE

EASY

. According to the saying “You can’t make an omelette without breaking
what”? Answer: EGG.

. Who is Miss Piggy’s long term romantic partner? Answer: KERMIT THE
FROG/KERMY.

MODERATE
. In which sport is the Ryder Cup Contested? Answer: GOLF.

. If you were ‘tripping the light fantastic’, would you be: a) going on a

loan walk, b) changing a bulb or c) dancing? Answer: c) DANCING.
DIFFICULT

. The word Hippopotamus means River what? Answer: HORSE.

. Lack of the production of which hormone in the body causes Type One
Diabetes? Answer: INSULIN.

ROUND TWO

EASY
. In which season do chestnuts fall from the trees? Answer: AUTUMN.

. What type of creature is a boa constrictor? Answer: SNAKE.



MODERATE

. What animal connects: a) a type of prawn, b) an area of Belfast, c) an
American golfer? Answer: TIGER (Tiger prawn, Tiger Bay, Tiger Woods)

. If you had mal-de-mer what would you be suffering from? Answer:
SEASICKNESS.
DIFFICULT
. What can be filo, flaky, puff of shortcrust? Answer: PASTRY.
. First name Rosa, what was the surname of the woman whose refusal

to give up her seat on a bus led to the Montgomery Bus Boycott in
1955? Answer: PARKS.

ROUND THREE

EASY
. What number is the base of the decimal system? Answer: 10.

. How many Irish presidents have has Mary as their first name? Answer:
2 (Mary Robinson, Mary McAleese).

MODERATE

. A troika is a sled or carriage drawn by what number of horses
harnessed side by side? Answer: 3.

. Two sets of twins have a total combined age of 46. If one set has a

combined age of 22, what age is each of the remaining twins? Answer:
12.

DIFFICULT



. The hands and globe logo is the International symbol of the Credit
Union Movement, how many people are within the globes? Answer:
4.

. The 13' January this year was a Friday. How many more Friday 13"
are there in 2012. Answer: 2 (April, July)



